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Food less than the size of an egg - PYOIR TxO20n NI

Overview

The &3 explained that s'%27 query was in a case where there was less than a 77¥°22
food in the Xnv N2 and this n°12 of 717N, which he threw (on nNaw) into the RXnv N3,
in combination with the food already there, equals a 71¥°23. The query is since it is
n7vxn regarding RNV (the 72170 becomes Xnw) perhaps he is also 211 for naw. Our
mooIn discusses why it was necessary for 37 to mention that the food in the house
was axX°2371 NMno.

- 417585 1999 DN PRY PYIN N NIINT 91295 381 17T PTH NN
It would be the same query if X217 would have said that there is a 928 773°25 in
the house, which does not require 5192, it is X2v on its own -
— 21919585 7Y 125 N9
However only the n>r> which he threw into the house requires M9 in order to
become Rnv, and the query will be, do we say Naw Py 2mn IR™IL PIAV? 70EATA, or not.

mooin offers an alternate view that 7%°25% nd is preferable:
= 9081 PPNRT TWON NN25 HAN NYYA91) NS NPT VPIT PNYY 13929 9DIN 993 IN

Or, says the 3''9, you may also say that X217 specifically mentioned ;7%325% w2 in
his query, however if there was a 7%°35 in the house which was already Xnv, it is

possible that this 7X°2> would not combine with the n’1> to make the xav n°13, rather the

n°13 would remain 2179, The reason is that -
= 3NNV NY YaY NNDIT NNVN 935 IV DNIPY 1D

Since from before the n19°% with the n°1, it was already N»un, perhaps it is

‘satiated’ with IR%W, and cannot combine with the n°1> to give it a TR™L NYW -
- 55992 9712371 )71 THX NV IPINY *PNIVY 223 (x5 mram) D29 YMIPNA KON NOY2T

For this (concept of nxmv 1% ¥aw) is a query (of X21) in 77129 Y2977 P19, regarding
an 12y, which was divided and one half became X»w and they were both placed
in a utensil -

! This n1oo1n is referencing the X723 on the previous 'X Tmy.
2 This n°1> when it landed on the 7%°2> becomes Xnv (because it has the My W), which it could not have otherwise,
therefore we should say naw 17197 *n1 25 aRwL 7wEHTA. See ‘Thinking it over’ # 1.
3 mpon is suggesting that the concept of M7°% is when both foods are less than a 71%°25 so (individually they are not
7RI 9apn, however) when they combine, they are nXmv 2apn. However when one is the size of a 71%°23 and (therefore)
is already Xnv, then since it is a0 72 ¥yaw it will not combine with the 7%°337% nnd, which is MV to give it a Myw.
4117wy (a tenth of an 719°X) is the (minimal) amount of flour required for a 7mn 127p.
5> They were not touching each other in the vessel.
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= 7MN0N NPV XD ANMIV NY YaW 9N 1 111 NNV 09 DIV YN
And a 2y 912w touched the 82w half of the Wy, what is the rule regarding the

other half; do we say that 78w 7% yaw, and the 997w half does not become N»w -
= PPNNLV DAY 1IN THNI O 9920 ¥)3 DINNL NNV PN ONT 2 HY GN

Even though if they (both halves) were 217w and a 21 912w touched one of them,

they are both N»w -
- 89983 XY NIV NY YAWT ROV YIPY I9INIY N9 9989 19947

For the utensil combines whatever is inside it for @7, nevertheless now where

it was N2 7 vaw it does not combine -
+N¥Y297 NG VP 19 XPADN DNNT DIVNY ARMIV 1Y YW 199X KY XIIT IN

Or perhaps we do not say 8= 7% yaw. That is the query of X237 there, so since
X217 is doubtful there whether or not we say nxmv 1% vaw, he mentioned here that
it was 1739257 NS, so as not to get involved in the issue of Ixmw 72 yaw.’

Summary
The query of %27 could have been where the n°22 1901 were a 1%°22; alternately

perhaps it is only by 17¥°25% nino, for by a 7¥°23 there is the issue of TRML 77 yaw.

Thinking it over

1. Can we distinguish (according to the first view of n1901n) in the meaning of
NAw PR N1 07N RO IV A0xnT, ' whether there was 19918 71%°201 Mo in the
Xnb N2 (as X271 stated), or whether there was a 1221 77%°25 (as MO0 suggests)?!!

2. if there is 192X 7%¥°201 NN in the house, but they are already X»v (they were part
of a 7¥°20 nRM), will it be A wxA if we maintain XMWY 79 Yaw?

¢ A o1 ?12v is one who was 9210 that day (to become T170 from some 7X»1), but it was still before sunset. A a1 912V
has the 17 of a XMWV *1w, he can be 7m0 %010 and be WP RXALA.
7 The ov 9120 did not accomplish anything by touching the Xnv, for it was already Xnv; it cannot become more Xnu!
8 We see there that even though when both were initially M0, the axmw transfers from the half that became Xnv
(through the 2y 912v) to the other half (via the *93), nevertheless once one of them is Xnv initially, the 7820 (of the
oY 712v who touched the &nv half), will not transfer to the other half; similarly here even though that when two parts
which add up to a 7¥°2> who were not X1 are 7v¥», but once one of them is already &nv it will not combine to make
the other be nxmw apn.
9 See nX now and mNA X who question MO0 comparison of these two cases; by a a1 9120 there can be no
transference since the 01° 712w did not accomplish anything, however here the n’13 is in a 8nv n°2 (which will make it
Xnv); all it needs is extra volume to make up a My°w, this volume is available when it joins the f%°23. w"»y.
10 See footnote # 2.
' See nnx now.
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